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H21 Web
% *
Web 5% 10%

15.1 29.0 8.31688
67.0 63.5 1.87779
14.3 6.4 7.04056
2.2 1.1 2.33818
82.1 92.5 8.50116
40.6 29.7 5.92415
254 23.6 1.07733
28.3 45.0 8.76774
65.9 59.7 3.27219
71.1 55.1 8.39499
40.7 41.4 0.36471
81.7 76.1 3.46721
45.7 40.5 2.69893
77.3 72.1 3.03516
32.7 30.4 1.27298
45.6 47.1 0.77100
1.5 1.7 0.40479
10.0 10.8 0.66839
15.0 19.2 2.81771
57.3 52.2 2.62348
13.0 14.9 1.39367
231 16.3 4.47811
69.1 62.0 3.80276
46.8 43.6 1.65028
12.7 20.0 4.92613
9.9 12.4 2.00598
13.1 16.4 2.35235
70.6 63.3 3.94566
38.6 38.6 0.00000
34.7 36.8 112121
335 40.6 3.74734
13.5 16.7 2.26097
21.5 224 0.55623
10.2 11.9 1.37586
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%

Web 5% 10%

6 84.7 84.1 0.42293
71.1 68.9 1.22693

21.0 16.1 3.27385

23.7 17.0 4.35331

11.7 19.6 5.40592

454 47.7 1.18170

14.6 13.3 0.96804

28.4 8.3 | 14.36025

44.3 48.5 2.15750

20.4 17.5 1.91519

14 1.6 1.8 0.39313
35.1 39.1 2.11592

40.5 38.1 1.26209

15.0 14.8 0.14414

15 2.6 111 7.94877
24.9 18.1 4.32438

54.1 52.6 0.77070

14.6 17.4 1.93696

19 47.1 47.0 0.05137
36.5 35.9 0.32030

10.6 12.9 1.80748

20 8.4 7.1 1.23668
37.7 28.2 5.23476

23.8 29.7 3.37894

12.6 12.1 0.35949

4.8 6.6 1.96324

9.3 13.5 3.28172

Z=(p. p)/YP(L P)(An, Uny)
pl i pz .

Ny, Np:

p

Py P

1,
1,

2
2
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2 H21 H20
% *
H21 H20 5% 10%

15.1 17.8 1.660
67.0 68.3 0.650
14.3 11.2 2.120
2.2 1.3 1.508
82.1 86.2 2.522
40.6 29.3 5.381
254 22.3 1.663
28.3 40.0 5.584
65.9 67.6 0.809
81.7 88.7 4.493
45.7 41.5 1.912
77.3 66.4 5.461
32.7 39.0 2.955
45.6 45.9 0.126
1.5 0.6 2.098
10.0 3.8 5.583
57.3 27.1 13.869
13.0 211 4.888
23.1 19.0 2.306
69.1 64.3 2.323
46.8 38.6 3.768
12.7 5.0 6.152
9.9 19.7 6.239
13.1 13.8 0.490
70.6 74.2 1.835
38.6 37.1 0.719
34.7 42.5 3.612
13.5 10.8 1.871
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H21 H20 5% 10%
5
6 84.7 85.1 0.265
71.1 67.8 1.636
21.0 23.8 1516
11.7 10.0 1.275
454 42.9 1.123
14.6 14.1 0.308
28.4 30.5 1.054
7 60.2 60.5 0.139
37.0 36.1 0.423
1.2 0.7 1.172
0.2 0.4 0.825
0.1 1.1 2.902
8 7.2 7.0 0.176
49.9 51.2 0.589
35.1 36.8 0.803
6.0 5.0 0.995
57.1 58.2 0.504
9 5.9 7.6 1.533
56.5 48.1 3.810
25.9 31.8 2.948
5.1 7.6 2.317
62.4 55.7 3.086
10 195 21.8 1.287
46.3 47.0 0.324
21.3 20.3 0.567
3.7 3.6 0.119
65.8 68.8 1.457
11 72.9 73.6 0.334
87.4 85.1 1.502
30.5 25.3 2.652
44.4 45.0 0.284
1.4 15 0.252
12 5.6 6.3 0.670
6.4 5.2 1.165
89.6 85.7 2.681
38.8 43.7 2.255
3.2 2.8 0.532
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%

H21 H20 5% 10%

13 50.7 49.5 0.544
39.3 37.8 0.698

27.0 22.9 2.148

23.9 20.3 1.967

78.5 73.2 2.803

46.4 43.9 1.138

74.1 70.2 1.970

94.2 924 1.629

38.1 35.0 1.459

46.7 44.6 0.955

61.1 61.3 0.093

50.6 454 2.358

14 1.6 1.5 0.183
40.5 37.9 1.200

15.0 18.6 2.179

15 2.6 3.9 1.641
24.9 40.9 7.725

54.1 36.9 7.842

14.6 14.0 0.370

27.5 44.8 8.163

16 9.5 15.0 3.776
20.2 21.7 0.838

52.8 47.5 2.407

4.7 4.0 0.800

3.5 2.4 1.521

0.9 0.9 0.113

29.7 36.7 3.357

17 51.6 56.1 2.052
43.3 39.1 1.912

4.1 3.4 0.820

1.0 1.3 0.690

94.9 95.3 0.378

17 44.6 49.7 2.300
49.7 44.0 2.597

5.1 5.2 0.116

0.6 1.1 1.307

94.3 93.6 0.619
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%

H21 H20 5% 10%
18 88.1 86.4 1.124
58.4 64.4 2.775
42.6 45.0 1.107
325 36.4 1.858
21.5 16.2 3.070
13.2 12.7 0.337
2.4 1.5 1.449
10.3 8.3 1.529
20.3 27.1 3.623
18.0 14.1 2.395
PTA 7.5 6.9 0.509
6.2 9.3 2.612
NGO 7.5 8.0 0.392
9.3 8.9 0.307
3.9 2.6 1.723

Z=(p. p) VP P)n, Lny)
Py P2 1,2
N, Np: 1,2

f) Py P
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